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the steering wheel
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M2 A== MY e 2= H2tE 20 FASL L
T+7HZ0{): Themap ~SICH S AL: showed
B e gan, o gl 0027 all the countries

SRRV in the world
B oo .
=X3: O MZAS2 X=S of#A sfELCh
S=7HZ0{): The colors ~BICH=AP): make
aihe o =R K=Y the map
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=T
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= X|5: Ottih= OtEfOf| Al &0tk 20K,

F7HZF0{): Dad ~SICHEAL): told
=T A? Adam
A SI=2? to be polite

'Be Polite.

= X|6: Ottit= OHEfOf| Al FAStat HIR L.

©JHFo0]): Dad ~SICHEA}): told
=0 A2 Adam

H{EH SIZ=Z? to be honest

Be HONEST! v 4

even if others are not
even if others will not
even if others cannot

‘he who walks honestly walks securely

= H|7: OfE2 ®=0f 7t7|?lol o 7kX| §f 3O }AH K.

=7HZF0{): Adam ~SICH=A}): hadtodo

= o 1=K =X one more thing
-
B2ofl steqm? to go
. o{C|o? to heaven

0| RHES HAH0 oK.

The mailman ~BICHEA}: put
the mail

in the mailbox
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the sliced carrots

one by one
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even if others will not
even if others cannot ‘
‘he who walks honestly walks securely
=M 7: Ot 2 M=0] 7t7| |5 o 7HX| I SHOF o Q.
+7HZ01): ~SICHS A:
~SICHSAp):

34




AEEZ gztzd
2X9: Oti= ZH A0 A A0 L.
= IHFOl): ~BIEHE AP):
. ] 7«2
=0 A2

=A10: %2 F R o7 S FoIM K.

= IHZ0): ~SICHSAD):

A1l T2 FRAM =0 2S5 7|0 K.

= IHZ0): ~SICHSA}):

=M12: =12 22| S Y THE|Of =0 R.

=IHZO]): ~SICHS AD):
i JUETT
Q Dear H
; ?
\'\ . You're invited 4o O1LI o
=) -
Birtnday party
y <=h
—Where

/

(LN

35




O|o|X| 5| =2}-0EtA 7| =-023

AEHE dztzH
2 dE8
~SIEHSAL:
W
YoviTeD
ZH14: de2l= o X} FH oA HAIXIE HZ0.
= IHZ0): ~SICHSAD):

YOUR ANGELS | oo
CALLED -

and

=H15: E2|= A M 22 St HA AL,

= IHZ0): ~SICHSA}):

36



o|o| x| 5| 5t-0tA 7| =-024
o
#l

SRRy
ZHL AR E2 42 287|800 HelELCh
F7HZF0{): People ~S}CHEA}): throw
FA=7? food
of C[of? into a garbage can

= A2 710H & 287 S0l Z0f L2 etR.

F7HZF0{): The crow ~SICHSA}):  flies
=27 down
A EEE: to the garbage can

=M3: 7t0 = ZS 7tEAE =S 20 K.

L=7hZ=0f): Thecrow ~SCHESAp: walks
IR Y 7 O around the edge

of the can

=M4: 7t0r £ CHE Ol st L= AS SOMSH BX[R.
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in the daytime

=A6: A52 @ AlZHo= OHIHES HIEO & K.

=7hZ=0f):  They ~SICHEA: put
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